02105/01205/P01205

2018(Even)

Time : 3 Hrs. Sem.- I/I1
Surv & Measure
Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question

carries 1 mark.

T-A ¥ Tt w9 % I <, yF W H AE 1 3w € |

Answer all five questions from Group B, each question
carries 4 marks.

9-B ¥ Uier Yo % ST ¥, Tk YA ol T 4 3HF B |

Answer all five questions from Group C, each question
carries 8 marks.

T9-C ¢ °iel 99l & ST <, Wk U9 okl UM 8 3k B |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
Tk U9 & Gl 3790 1 I T & e (TR 8 §) B
=fey, T=ren 8 & Sif= S b © |

The figures in right hand margin indicate marks.
T¢ wisd & ek YU & G ¢ |
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1.

GROUP A

Choose the most suitable answer from the following
options :

qaifys STga faweq &t g fafem

(1)  Which of the following survey is carried out to

the fixing of property lines?
(a) Cadastral survey
(b) Topographical survey
(c) Hydrographic survey
(d) City survey
() Trfafed & @ 9 wdem g WEn &
fraftor & foaw fear smm 22
(31) 9-FHT T
(F) TIATRIA T &I
(W) TEgmfes Feam
(%) TR T
(i)  Which of the following is satellite based survey?
(a)  Chain survey
(b) GIS
(c) Both (a) & (b)
(d) None of these
() Tr=Aifra & @ 9 SyUe onuia weerm 2|
(37) ST gdaon
() ...

(iif)

(iii)

(iv)

(iv)

3 02105/01205/P01205

(F) (3R

() T ¥ #E o

Which of the following is used for setting out
right angles?

(a) Cross staff

(b) Optical square

(c) Prism square

(d) All of the above

freifea & 9 feaer w=im wgwor fAuio
" w@ #?

(1) wE Wiw

() gwrfa e

(@) frsm wfmEn

(7) 3Swgsa el

InVar tape is made of an alloy of :

(a) Nickel and steel

(b) Silver and steel

(c) Copper and tin

(d) None of these

TTOR ®ial fhe fagurg @ o e @2
(21) fihal @ T

(F) = iR T

(@) dfer iR e

() T ¥ & o

PTO
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v)

v)

(vi)

(vi)

(vii)

As per Indian standard, the length of one link
in 20 metre chain is :

(a) 10cm
(b) 20 cm
(c) 30cm
(d) 40 cm

AR AFE & STER, 20 "W SWE H
T% HE! H fhadl o Bl 22

(s1) 10 =

(F) 20 =

(F) 30 9.

() 40 H.HL

Correction for slope is always:

(a) Positive

(b) Negative

(c) Both (a) & (b)

(d) None of these

Tl WA gHen el e

(31) =ATCHS
(9) =BATHS
(W) (AR(T) I
(7)) T 4 & &

A building is an obstacle to:

(Vi)

(vii)

5 02105/01205/P01205
(a) Chaining
(b)  Ranging
(c) Both (a) & (b)
(d) None of these
god frEd wmen €72
(31) Sa A@Od H
(9) e
(F) (R() =
() T ¥ #E o
In prismatic compass graduations are engraved:
(a) Erect
(b) Inverted.
(c) Both (a) & (b)
(d) None of these

(viii) Tt fesrgeer o Siomeha 1 TR el 2

(ix)

(31) druft
() SoEt
(@) (sD() T
(3) T ¥ FE T

The guadrantal bearing of a line is N 600 W.
It's Whole circle bearing is :
(a) 60°
(b) 120°
PTO
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(ix)

(x)

(x)

(xi)

© 1500

d) 3000

TH W H ugAe fTREE N 600 W R
31 qUigd fewme Bm:

() 60°

() 120°

(") 1500

() 300°

A line drawn throught the points having zero

declination is :

(a) Isogonic line

(b) Isochoric line

(c) Agonic line

(d) All of the above

v e aet fagst &t faam areft e
B -

(1) STEEmiE T

() eAEHERIEn @

(@) Ttk En

(7) 3Swgsa el

In Plane table survey plumbing fork is used for:-
(a) Centring

(b) Levelling

(c)  Orientation

(d) None of these

(x1)

(xii)

(xii)

(xii)

7 02105/01205/P01205
Ted T B Higehial &1 yAm fwas
few =@ 22
(31) H=S
(9) HHAAA
(®) ez
() T ¥ #E o
Lehmann's method is used for solution of:
(a) Two point problem
(b) Three point problem
(c) Both (a) & (b)
(d) None of these
weaH fafy &1 wam feas wwaE & fau
o smam #?
(e1) fg-fag wwenm
(7)) Ta-fag @@=
(F) (R() =
() 3 ¥ HE e

Two point problem and Three point problem
are methods of :

(a) Radiation
(b) Intersection
(c) Traversing
(d) Resection
PTO
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(xiii)

(x1v)

(xiv)

(xv)

fg-fag wuwen @ fa-fag wwen fea fafy
% ora 82
(1) fafezo
() wfa=ssA
(9) weRed
() fEFm

At every turring point, which of the following
sight is taken?

(a) Back sight

(b) Fore sight

(c) Both (a) & (b)

(d) None of these

g aitemd fag W freifed ® @ &
qeAis fam smr @2

(31) YTETEArRA
(9) TUTacteh
(@) (3D)(T) T
(3) T ¥ FE T

The rise and fall method of levelling provides a
complete check on:

(a) Back sight
(b) Fore sight
(c) Intermediate sight
(d) All of the above

9 02105/01205/P01205

(xv) TAeIUT &I FEE-IAR fafy H MO gN

(xvi)

(xvi)

freet qoi = et 8?2
(37) UvEEArSA

() STUTEArRA

(9) weATaaArsd

() Sg= |

Back sight is also known as:
(a) Plus sight

(b) Minus sight

(c) Both (a) & (b)

(d) None of these
qTETErR i T W W el W 8?2
(31) yATae®A

() FOMEIArRA

(@) (s)er(@) T
(3) =9 @ w7l

(xvil) The vertical distance between any two

consecutive contours is called:
(a) Contour gradient

(b) Horizontal equivalent
(c) Contour interval

(d) All of the above

(xvi)) fFrel  wETTG GEeE Y@Emst @S9 &t

3 T Fewad T o
PTO
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(31) THA== @
(@) dfs wwgea
(§) gHr=a  FAaud
() S9gw g+
(xviil)) The reduced level (R.L.) of a point is the

elevation with reference to:

(a) Mean sea level

(b) The surface of earth

(c) Both (a) & (b)

(d) None of these

(xvii)fFet fog &1 ¥ArFa @ (RUA.) feas

el SHH! SeEFal €7

(37) wr=F ggsad

(9) gl &1 Tag

(F) (R(F) =

() 3 ¥ HE T

(xix) The operation of revolving the telescope of the

theadolite in horizontal plane about its vertical

axis is called:

(a) Transiting

(b)  Swinging

(c) Both (a) & (b)
(d) None of these

1 02105/01205/P01205
(xix) forEiemEe &1 W ®I FEAYR 318 & 9Ra:
&ffe qe1 | YEE w1 gimA F dedr 87

(1) af=ifem
(&) fafim
(W) (AR(T) I
(7)) T 4 & &

(xx) Which of the following angle/ angles can be
measured with theadolite?

(a) Horizontal angle

(b)  Vertical angle

(c) Both (a) & (b)

(d) None of these

(xx) Fre=ifera o @ fom siovwon #i ferreenge

gRI Wl S Gehdl ©2

(31) eifasr i

(9) FEATER HIO

(®) (R() I

() T ¥ FE T

GROUP B

Answer all Five Questions. 5x4=20

gt ufer Ye % S SifSw |

2. Differentiate between plane surveying and geodetic
surviying. 4

PTO
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gIqd A TE -TS TV H =i Sdrd|
Or (372714T)

What is well canditioned triangle? Write its advantage
in surveying. 4

gufeq s 0 82 wder o o SYAfEr &
gee

Compare plane table survey and compass survey 4
WA WA Td fehgEds WEAAUl HOger w
Or (31e14T)

Define bearing The fore bearing of the lines PQ and
PR are 45° 30' and 125° 45' respectively. Find the
acute angle QPR 4

feeAm &1 uftan foel ¥Yem PQ T PR

SUfKHAM HAI: 450 30" &1 1250 45' 7 @ A
FHUT QPR FI ;@ HII

Describe orientation of plane table by back sighting. 4

TTAEded g fasv-ved & feewzem s &1 avi

=2yl

Or (31214T)
Define the following terms:- 4
(1) Base line (i1) Check line
(i) Parallex (iv) Declination

13 02105/01205/P01205
freifea usf &t aftam fo|
(i) MER @ (i) wEa Y@
(iii) foreemuATE (iv) f<oum

Describe in brief temporary adjustment of a dumpy
level. 4

TE ddd % AU THSA k1 HLEY H Ui Hi)
Or (37214T)

Show with sketches the contour arrangement of the
following characteristics: 4
(1) Pond (i1) Flat Land

() Overhanging cliff (iv) Hill

foent g fa=ifera @& &1 IETHGTel HHrA
e femmd -

() T (ii) =@ HfH

(i) e FE gE FM (iv) T

Explain the following terms: 4
(1) Global Positioning System (GPS)

(i) Geographical Information System (GIS)
iR o= &1 =E wive -

() T qifseHn foweg (Shdd.)

(i) wrifess gET gomedt (e T, )

Or (37214T)

Define the following terms:- 4
(1) Face left observation (ii) Turning point

(i11) Face right observation (iv) Contour gradient
PTO
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freferd 9=f w1 uftamon fed o-

() =& g@ wedE (i) uieda fag
(i) =@ @ wEAE  (iv) wEE e

GROUP C

Answer all Five Questions. 8x5=40

Tt ufer e % S EfST |

7.

Explain any two methods of chaining on sloping ground.

T WHHE R oSe ToE & Tl @ fafat @
EREEETY 8

Or (372714T)

A 20 m chain was found to be 0.05 m too long after
chaining 1400 m. It was found to be 0.10 m too long
after chaining a total distance of 2200 m. If the chain
was correct before start of work. Find the true
distance. 8

1400 ®Ht. d% AT FH F TE 20 HX H A
0.05 . SATE o UREN AT qel 2200 H. H/A U
IHET A F AZ 0.10 HL G AW OGRET TR
I HEF URY FH H TeAd SIS Hl o Tl
off @ & W I@ w

Determine the Values of included angles in the closed
compass traverse ABCD. Given the following fore
bearings of their respective lines. Apply the check. 8

15 02105/01205/P01205

Line Fore Bearing
AB 122°

BC 262°

CD 318°

DA 38’

& 9gd f<eg=e Aen @1 ABCD & 3T=<iid ion
F T R AR YEnell & ewfkrmE freifed @)
ST

Ten AUH AN
AB 122°
BC 262°
CD 318"
DA 38’
Or (31214T)

Explain with a neat sketch how can you tackle an

obstacle in both chainging and ranging. 8

TH g% a9 g S« 9ue ud mREH Sl A
YT H TR HE KT SYE Gqd|

State three point problem. Describe any one method

to solve this problem. 8

B-fog v & fag| @ 99 & §EEE &
fau fedt ww fafy @1 avE &

PTO
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10.

Or (31214T7)

The following bearings were observed with a compass :-

Line[ AB BC CD DE EA
F.B.| 74°0' | 91°0' |166°0'| 177°0'[ 189°0'
B.B.|254°0'| 271°0'| 343°0'[ 0°0C' 9°0'

State Which stations are affected by local attraction?

Find the Correct bearings. 8
o, g=& g feifed oM w0 ™ 9 -
Ten AB BC CD DE EA

snfaFam | 74°0' | 91°0' [166°0'| 177°0'| 189°0"
wva fR®AM|254°0'|271°0'| 343°0'| 0°0' 9°0'
FH-I WIF WFEE Y ¥ ydifad ©? 9el
fewram @ =

The following readings were taken with the help of a
level and 03 metre long levelling staff over a continuously
sloping ground at 30 m interval. 0.605, 1.235, 1.860,
2.575,0.230, 0.915, 1.935, 2.870, 0.585, 1.820, 2.720
m. R.L. of 1st point is 128.000m. Calculate the reduced
level of each points. Apply the arithmatic check. 8

TH oge R 03 WX o aoiem ™ W Th
sifeR@ @l SR 30 "X & oF<a W feifena
i fad - 0.605, 1.235, 1.860, 2.575, 0.230,
0.915, 1.935, 2.870, 0.585, 1.820, 2.720 HeX. TI®
fog # O 9@ I w FAFERE SE
v fog @1 WEMW qe 128.000 HX @I

11.
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Or (37214T1)

Enumerate the methods of computing the levels.
Describe any one method. 8

TA HI TMUAT K i fafe o o e
s fafy =1 9w W

Describe Repetition method of measuring a horizontal
angle by a theadolite. 8

forlieiaree g1 &fasr ®mor we # gRgh fafy
F TUE H

Or (31214T)
(a) Differentiate between direct Vernier and retrogracle

Vernier.

(b)  Write name, length and number of links in four
different types of chains.

(37) e affeR wd vl afteR H ST T
Exd
(F) =R fafa= goR & SO& ® 94, dEE R

3 wfgal & wen fodl

koskok



